The graph open

Applications Dax 1 Exit Activity

The height 4 (in feet) above the ground of a golf ball depends
on the time, 7 (in seconds) it has been in the air.

Ed hits a shot off the tee that has a height modeled by the

velocity function #(7)= -16 8+ 807
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Create a table of values to represent this function. O O

State the Axis of Symmetry equati

State the vertex point
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Sketch the gmph:.
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How long is the ball in the air? 5 S
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What is the maximum height of the ball?
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How long after it is hit does the ball
each its maximum height? .5 50
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What is the height of the ball at 3.5
seconds? Is there another time at which

the bw}\is same heighi?
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At approximaetely what time is the ball 65

Suppose the same golfer hit a second ball from a tee that was elevated 20 feet above
the fairway. What effect would that have on the values in your table?
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